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AT LA(TM)

import tensorflow keras
from PIL import Image, Imagelps
import numpy as np

# Dicable scientific notation for clarity
np.set_printopt ions{suppress=True)

# load the wmoge!
model = tensorflow. keras.models. load_mode! ('converted keras/keras_model .h5')

# Create the array of the right shape to feed info the keras mocel

# The “length' or number of images you c¢an put into the array is

# getermined by the first position in the shape fuple, in this case 7.
data = np.ndarray(shape=(1, 224, 224, 3), dtype=np.float32)

print(1)

# Aeplace this with the path to your fmage

image = Image.open('a23. jpg')

print(2)

Hresize the image to a 224224 with the same sirategy as in TM2-1
Aresizing the fwage fo be at feast ZP4x224 and then cropeing from the center
size = (224, 224)

image = Imagelps.fit{image, size, Image. ANTIALIAS)

Aturn the ifwmage fnto a numpy array
image_array = np.asarray(image)

# dispfay the resized image
image . show ()

# Normalize the image
normal ized_image_array = {image_array. astype(np.float32) / 127.0) — 1

# load the image into the array
datal0] = normal ized_image_array

# run the inference
predict ion = model .predict {data)
print{prediction)



import numpy as np
import cv2

~|import os

| import tensorflow.keras

i from PIL import Image, ImageOps

ixml = 'haarcascade_frontalface_default.xml’

| face_cascade = cv2.CascadeClassifier(xml)
f = "face.mp4”

cap = cv2.VideoCapture(0) # L ES HAWZ 7IH2tZE AE
| #cap.set(3,640) # HH|

| #cap.set(4,480) # =0|
i #model = tensorflow.keras.models.load_model('keras_model.h5',compile=False)

def classify(image):
# Disable scientific notation for clarity
np.set_printoptions(suppress=True)

# Load the model
model = tensorflow.keras.models.load_model('keras_model.h5',compile=False)



#print(model)

data = np.ndarray(shape=(1, 224, 224, 3), dtype=np.float32)

size = (224, 224)

image = ImageOps fit(image, size, Image. ANTIALIAS)

#turn the image into a numpy array

image_array = np.asarray(image)

# display the resized image

#image.show()

normalized_image_array = (image_array.astype(np.float32) / 127.0) - 1

data[0] = normalized_image_array

# run the inference

prediction = model.predict(data)

print(prediction)

prediction=prediction[0]

if prediction[0]>=prediction[1] and prediction[0]>=prediction[2]:
print("no face")
return 0

if prediction[1]>=prediction[2] and prediction[1]>=prediction[0]:
print("pure face")




if prediction[2]>=prediction[1] and prediction[2]>=prediction[0]:
print("mask face")
return 2

framecnt = 0

while(True):
framecnt+=1
print("onframe” +str(framecnt),end="")
ret, frame = cap.read()

if framecnt%10==0:

frame = cv2flip(frame, 1) # Xt CHE
gray = cv2.cvtColor(frame, cv2.COLOR_BGR2GRAY)

faces = face_cascade.detectMultiScale(gray)
print("Number of faces detected: " + str(len(faces)))
retp = 0
if len(faces):
for (xy,w,h) in faces:
cv2.rectangle(frame,(xy),(x+w,y+h),(255,0,0),2)
if w*h>=5000:
retp+=1
print("Number of REAL faces detected: " + str(retp))
if retp>=1:
file = "helloEN.mp3"
os.system("mpg123 " + file)

cv2.imshow('result’, frame)
#resu=classify(frame)
#print(resu)



k = cv2.waitKey(30) & Oxff
if k == 27: # Esc 7| & 5+ EH T
break

cap.release()
cv2.destroyAllWindows()






